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1203 — * * * = 905; what will replace the * * *
(a) 298 (b) 305
(c) 333 (d) None of these.

A farmer got 1345, 678 and 527 coconuts respectively from his three gardens. So how many
coconuts did he get in total ?

(a) 2550 (b) 2500

(c) 2600 (d)o

There are 3 sweets in one packet. How many sweets will be there in 9 packets ?
(a) 3 (b)9

(c) 12 (d) 27

S s
If %P«L }z 24 and i } =90, then the

value of %4{ is _Fill in the blank.
(a) 12 (b) 13
(c) 15 (d) 33

21 [ }7=17-3.

What is the missing sign ?
(@) + (b) x
(c)— (d) ~

One morning, Tripti saw that out of 70 birds only 24 were left. The rest had gone away. How many
birds had gone away ?

(a) 94 (b) 56
(c) 64 (d) 46

A tank has volume of 5 litres, There are 2 litres of water in it. How much more water is needed to
fill the tank completely ?

(a) 3L (b) 2L
(c) 4L (d) 5L

Amit had 52 marbles. He lost 8 of them on his way back home. But in the evening he won 12
marbles from his friend. How many marbles does he have now ?

(a) 50 (b) 56
(c) 58 (d) 60

I eat 1 chocolate on Monday, 2 on Tuesday, 3 on Wednesday and so on. How many chocolates do
I eat in a week ?

(a) 20 (b) 25
(c) 28 (d) 30
Smallest four-digit no is —

(a) 0001 (b) 0100



(c) 1000 (d) 1999
11. Write the greatest and smallest numbers of four digit can be formed with the digit 6, 0, 8, 2.

(a) 8026, 0268 (b)8620, 2086
(c) 8620, 2068 (d)8260, 2068
12. Match the equal values.
Column I Column IT
A) 6+9 1) 8
B) 8-0 2) 0
C) 7-7 3) 9+6

(a) A=1,B=3, C=2
(b)A=3,B=1,C=2
(c)A=2,B=3,C=1
(d) none of these

13. Fill in the blanks.

3+3+3+3+3+3= x3
(a)3 (b)6 (c)7 (d)5
14. If January is the first month of the year. Then October comes before
(a) September (b) August
(c) November (d) December
15. Friday is the day of the week.
(a) 4 (b)3
(c)6 (d)5
16. Arrange in ascending order
44, 69, 82, 65, 40
(a) 82, 69, 65, 44, 40
(b) 82, 65, 69, 44, 40
(c) 44, 40, 69, 65, 82
(d) 40, 44, 65, 69, 82
17. Fill in the with >, <or = signs.
37 73, 80 70
(a) <. (b)=>
(c)>,< (d)<>
18. Keya picked 15 flowers. She gave 6 to her mother. How many are left with her.
(a) 21 (b) 20
(c)9 (d)8

18. LI=AA\+4 .1 AA=7, whatis 12

()3 (b)7



20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

(c) 11 (d) 14

Find the leap year.

(a) 1980 (b) 1982

(c) 1981 (d) 1983

Sum of largest and smallest number of one digit —
(a) 10 (b)9

(c) 11 (d)12

If you multiplied zero with a number you will get—

(a) the number

(b) zero

(c) multiplication no possible

(d) none of these

At an airport 57 planes land every day. How many planes land at the airport in 28 days ?

(a) 57 + 28
(c) 57 x 28

(b) 57— 28
(d) 57 +28

Which two shapes do not meet.

(a)2and 3 (b) 1 and 4
(c)land 3 (d)4 and 2

879 =8 hundred + 7tens + __ ones.
(a) 8 (b)7

(c)9 (d) 6

How many straight lines does the figue have .

(a) 11
(c) 13

If ‘Shoe’ is called ‘Socks’, ‘Socks’ is called ‘Watch’, ‘Watch’ is called ‘Tie’, then what do we

wear on the wrist ?
(a) Shoe
(c) Watch

(b) 12
(d) 14

(b) Socks
(d) Tie

O

This solid is made up of 2 triangles and a

(a) square

(c) circle

If the day before yesterday was friday, what day will be day after tomorrow ?

(a) Friday
(c) Wednesday

(b) rectangle
(d) oval

(b) Thursday
(d) Tuesday




30. If 536’ is called ‘315°; ‘782’ is called ‘864’ then ;572’ is called

(a) 384 (b) 484
(c) 483 (d) 285
31. What will be the number if you write 142857 in a reverse manner ?
(a) 578241 (b) 425718 (c) 145718 (d) 758241

32. Which shape has 5 sides ?

(a) <:> (b) Q (c) E (d) A
33. Ifﬁjtﬁgjt N =6, then 0N =72

(@) 5 (b) 4 (c) 3 (d) 2
34. Which is the greatest numbered hat?

28685

(a) 801 (b) 608 (c) 157 (d) 175
35. Weight of one ball is —

kg

%%% 2kg
A

(a) 2 kg (b) 4 kg (c) 6 kg (d) 8 kg
36. A bucket can be filled by 3 measuring cylinders as shown. How much water can be the bucket hold ?

==

1 L1 | |
Dok = Llit 3 it 10 lit

(a) 14 it (b) 17 it (c) 13 it (d) 10 lit
37.
Epal 010
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4[5 |6 7 8 3|10
|1 | 14 15 6| 17
g | 19 ol 1 Y, yii 4
Bolw |0 | B | 0
What date is just after Tuesday, April 6th ?
(a) Sunday, April 5 (b) Wednesday, April 5
(c) Wednesday, April 7 (d) Tuesday, April 5
38. What is the product of the numbers from 1 to 6
(a) 120 (b) 420 (c) 720 (d) 220

39. A bucket capality of 10 litres. There are 4 litre of water in it. How much more water is needed to
fill the bucket coeupletely.

(a) 51 (b) 41 (c) 141 (d) 61



40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

I eat 1 toffee on Monday, 2 on Tuesday, 3 on wednesday and so on. How many toffees do I eat in

a week.

(a) 20 (b) 25 (c) 28 (d) 30
What is the sum of the largest and smauest 2 digited numbers.

(a) 100 (b) 99 (c) 108 (d) 109
How many days were there in the month of February 2000.

(a) 30 (b) 28 (c) 29 (d) 31

In on examination Mohan gets 350 marks and Sohan gets 412 marks. Who gets the better marks and

how many more marks he gets.
(a) Mohan, 52 less. (b) Sohan, 52 less.
(c) Mohan, 62 more (d) Sohan, 62 more

The Students of yours school donate Rs. 875. Out of these they give Rs.260 in chief ministers fund

and rest for beeying medicine. What is the prece of the medicine.

(a) 605 (b) 515 (c) 615 (d) 715

The sum of two number is 405. One is 325. Find the other.

(a) 180 (b) 80 (c) 280 (d) 85

9 a village there are 536 people. Out of them 372 are male. Find the no of female in that village
(a) 146 (b) 416 (c) 164 (d) 64

A girl pays 15p. to one beggar. How much will she have to pay to 5 beggars.

(a) 70p. (b) 65p. (c) 75p. (d) 60p.

At an airport 53 planes land everyday. How many planes land at the airport in 27 days.

(a) 53 x 27 (b) 53+27 (c) 5327 (d) 53-27

What number must be added to 834 to get 1000.

(a) 616 (b) 166 (c) 216 (d) 266

How many Rs. 20 make Rs. 100.

(a) 6 (b) 5 (c) 4 (d 8

If 60 students are divided into 10 groups Hiw many students are there in a group

(a) 10 (b) 12 (c) 8 (d o6

The price of a post card is Rs. 5. If you pay Rs. 50 for 9 postcard. WHat sum of money you get
back.

(a) Rs. 10 (b) Rs. 15 (c) Rs. 5 (d) None of these

A family earns Rs. 6486 and saves 3997. Find the expenditure of the family.

(a) 2489 (b) 4289 (c) 2894 (d) 2948

The distance between kolkata to Haldia is 125 km. How many km in both ways.

(a) 325 (b) 250 ) 225 d) 125

8 dozen eggs = How many eggs.

(a) 90 (b) 92 (c) 96 (d) 100
If O+Q+O+O=20, then the value of O+(=?

(a) 10 (b) 5 (c) 12 (d) 15



57.

58.

59.

60.

If A+ 0= 18 and A = 6 the value of O is
(a) 10 (b) 12 (c) 8
Which abacus shows 346.

;

S
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ORORO
OMORo
(a) (c) L L °©
Find the missing sign 30 |:| 6 =10 -5
(@) + (b) - (c) x

Fill in the blanks — 31, 131, 231, 331, 431,

(a) 455 (b) 333 (c) 531

@ 11

(d) None are applicable

(d) +

(d) 555
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